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Jor the questions

1. Answer the following questions (any ten) :
, 1x10=10
oo PR et ot (R comeem weh)
(a) What is aggregate supply?
AT e e &2

(b) Write the meaning of effective demand.

sifepn oRAR e fordn |
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(2)

(¢ Who first coined the term fliquidity
preference’? .
“ore-A’ *=TH1 @A 23S fifRer 2

(d) What does LM curve denote?

LM R’ & q@m?

(e) Define multiplier.
@3 el fia |

() What is marginal propensity to
consume?

o1 Sorceret egeret 6 2

(g) Write the meaning of transfer payments.
TG 21 1 ARemR w5 oyt

(h) What is creeping inflation?

B3 MR J@rRS T &2

() What is Phillips curve?
R @ 9

() Write the meaning of demonetization.
Ryareaes o forar |

() What is meant by full employment?
o faner s 3wt 6 qmm 2
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(3)

() Write the meaning of balance of trade.

ISR TSR o B |

(m) Define exchange rate.

R 2153 w5zt forwn o

(n) What is effective exchange rate?

i Rt 2w 2

(o) Forex is

( Fill in the blank )
Forex SIH I |
(1 3 [ 79 )

. Answer any five of the following questions :

2x5=10
©oq 2PRE R et <AivhR Tew forat

(a) Distinguish between long-run period
and short-run period.

R 1 ZFPIe TGS A6 (TS |

(b)) What are the factors determining
aggregate demand?

AT vifwe iR oo & [ 0

() Distinguish between inflation and
deflation.

TS e SPT WS A Fefy 3 |
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(4) | (5)

(d) ﬁat i; meant by demand pull (b) State the limitations of IS-LM analysis.
ation -
1S-LM Remes SRR 36 3 |
RS TEFRIS 2
(c) Differentiate between aggregate demand
(e) Mention two features of foreign function and aggregate supply function.
exchange market. TR () v T S TR (;[3) T
R R IwRe 71 (e Sea 1 | T WS Y IS |
() Name two main types of exchange rates. (d) Discuss the concept of multiplier as put

forward by Keynes.

Rffm 2133 o1 4919 W foran |
@S SRCEAT BT LRI ST 41 |

(g) What is meant by a deficit in balance of

payments? (e) Distinguish between current account
d capital account.
AR TS TS A R oo = 2 an
A Shre ot S AR fREri e ende et |

(h) Write two causes for shift in a : ,

demand curve towards right hﬁegate () Discuss the components of aggregate

. . demand.
AT BIRA I GIRFICET FAIERS (R 139 AR () IR eI SCEAo- < |

o1 forn |
(g) Discuss the structure of foreign

3. Answer any four of the following questions : exchange market

Ex4=20 WWWWWWW|
SR epPiyed R e SiikeR Tee for (h) Explain how the exchange rate is
(@) What are the components of aggregate determined atm(il;:::r:lii:lr;ttil;;.facmrs or
supply? Briefly explain. exchang® T v
TR QAR AR R 2 Sy qeR o mgﬁm@?ﬁ:‘? -
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(6)

(7))

4. Answer any four of the following questions : () Explain the effect of MPC on AD curve.
10x4=40 Why does aggregate demand curve slope
o 2RIARA R e SIRBR ST o - downward?
AMAT SRW (R eURe TorerR ot
(a) What are IS and LM curves? Discuss AFISIZ (RCCS PSR O TR 41 | ANES
the features of IS and LM curves. FIRW (IRTeTE SoTFICE GRECA e =19
IS WF LM @1 W7 &2 ISLM @R (g) Explain how IS curve is derived.
(RMERRR AT T |
IS 91 T3 SR 390 = 0 <441 |
(b)) What are the assumptions and () Discuss the causes of excess aggregate
limitations of multiplier? demand and ways to correct them.
BIFY SfSYRN AF RIRzeIN &2 e TS TR FRT T TWE AN
' i [ PR T, Scens 4 |
(c) Explain the causes of demand-pull and li
cost-push inflation. (i) Analyze the relationship between
e W‘Wﬁ@ W@% - inflation and unemployment.
T 41 | !3 AR 9 R SRR S S TR
Rooa 91 |
(d) Mention the features of inflation and . .
how it can be controlled. () Explain the Keynesian  theory  of
inflationary gap.
ﬂ\?ll’ﬁn\ﬁ m’ﬂi Ty ¥ e Euind mm@}%@mwm|
@eICT A v M, o
(e) How is aggregate supply affected in both * % %k
short run and long run? Explain.
A ue e @emE TR @
2>SIRS 732 7 90 1. |
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